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Placement Test — Level II — Answer Key

Directions: Each problem is worth one point. When you are done grading, add the
points for the number of correct answers together. If you scored from 0 — 39, then you
placed into Elementary Algebra. If you scored from 40 — 60, then you placed into the
Intermediate Algebra course.

1. Translate the phrase into an algebraic expression and simplify.

the quotient of 8x and 4x

Translodion + [ 3% X ._.ﬁ_—

Hx Hx

2. Solve. 12+2(4 —-3y)=-5(y—2)+1

|7.+3-(,5 = ~5y+10+]

20— by = —5y+Il
"y
20: + (I
ki

1 =¥

|
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3. Solve and classify the equation as a conditional equation, an identity, or a

contradiction.
~ Vv - v; N
12(5—2x) = —-12(x — 4) — 12x

b0 -24x =—|2%x+4%3 —[2x

CO—24k = =24% +Y4
+2 +24x

L0 =4
Tolse =>(T5 e o caon.
4. Solve. 7o} ( ﬂfmo .
L0 L +(a0 0 -00 /3 >
é{x (-Ex)_ 420 —ko® (_;r,x
20x+ 24X =420 - Y&,
45X +4
20k +69x = H20
3@>< szo

5. Solve the formula for y. 5¥+ Qy = 2
—oX_
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6. Solve the inequality, graph the solution on a number line, and write the solution in
interval notation.

3m+42m—-5)<6m-9

Im+8mM—20 < bm—9 Number Line :

[lm—20 _&\ sl >

b’m 5
Trderval Notetion.

4“ ==

7. One number is four more than seven times another. Their sum is 20. Find the
w_‘\-'

M let x = another aumber i 5
%= one number afh #\
X+ h¥Ix=20 = (2 vz

IX+
Z/ H+1X A8
% lo = 4+1(2)
= H 414

8. 70 is what percent of 1307 p—
et \_.E—-y——'———' .—IO i~ ﬁox

s (X)(ll’b) 3o 1% X= 53-8%
053L= X
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9. Joseph has $4.20 in quarters and nickels in his coin jar. He has twice as many
nickels as quarters. Find the number of each type of coin.

let x= the number of cbuai"dS
Ix= the number of nickels

.05 (2X) + . 25% =4.20 2 (1D
.lox +.25x=H,2D | -_-.ﬁq nidzclS}
13\6)4 7'11.2-0

10. The perimeter of a triangle is 39 feet. One side of the triangles is five feet longer
than the second side. The third side is four feet longer than the second side. Find the
length of each side.

x+5= lergttn of the “one side’ /\&*5
X+ = lengih of +the thied Side

0o T,

Ix+9=39
—A =4 Xt4= l0+4 = |4

—

x=30
% 3 0,14, and IS
X=(0
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11. Two cars leave a rest area on the interstate at the same time. One car travels east
and the other travels west. The car traveling east travels at 50 mph and the car
traveling west travels at 60 mph. How long will they travel before they are 240 miles

apart?

r{t td

East 50t

LW€S+

Lot

2<

Total | 240

ROt + b0t =240
ot =240

12. Piper’s phone plan costs $18.50 per months plus $0.05 per text message. What is
the maximum number of text messages Pipers can use so the phone bill is no more

than $267?

let X= e Number of text Messages used

\%z—i- 05X £ 2b

‘0 ::_"—,05
05 ,05

The Maximum numberoF‘

text messages she can

o use s 180,
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13. Determine if the given ordered pair is a solution to the equation.

4x—-3y=8; (-2,1)
®Y
HE2)-3() =8

-[1=2 " S |
False = |No,The ordered pair (€ not
a Soluhon,

14. Graph the equation.  3x — 4y = 12 u
K14 X=0 ' 3(0)-Y y=12 =
oS R
L‘ | O 5:-—3 k /// )X

UE0 3x-H(v)=12 P

%x: 12 vd
3 b—
R&4

15. Find the x- and y-intercepts of the line.

ud

<

_X_‘% A=01-043yzb  Uz0!-x+3(9=0
O =l X=b
P {O %— 3 YS(- =)

422 kel

M’ETQ.[)'" : (O) 2) F‘Mhtor.com
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16. Find the slope of the line containing the following points. The slope formula is

m =222 (-3, 5) and (-4, -2)

Xz=X1

R A b
ms=2-5 e =1
-4-(d -
m==1_, m="T |
A+3

17. Determine if the lines are parallel, perpendlcular or neither.

®4x 2y = 5;3x+6y 11

i
_Qu = =1 Slopes are
® -2y -—;Sx @ 3 _fou:j | OPPﬁ’fe— eqols

=—Ux +5 "'"'3X+” So these ll\pes
:ﬂ% -2 “2 gé' T & | are perpendicular.

}j=2)<"'_%. 5'—‘--—_Lx+_lL
m=72 m=-

18. Find the equation of the line with the given slope am?_passmg through the given
point. The point-slope equation is y — y; = m(x — x,).
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19. Graph the linear inequality.

/,
x+2y>8 llSkCG’ VN / J
X+2y=3 line R/ 00,
x]u x=0. Y= Tés+?om+i <V
o|q =8 X+20)"3  (0,0) e
210 2 XF3 0t2078
y=4 078
‘alse v
20. Determine the number of solutions to the system of equations.
@ 3x—=5y =20
@H@ —50=20
y
'4@* False =
3)("'#5)( +|O>::ZO
Trhere are No solutons
- ~&n =20
b‘ﬁ%@ 50 =2 fo this system.
3x=3x=50=20

21. Solve the system of equations using the substitution method.

2x+12-3x="1

—X+17=1
-2

-%;::_5_ W=l
ol www.themathtranslator.com
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22. Solve the system of equations using the elimination method.

(3x+y=9)(D = bx+24=138
4x-2y=12 —2 +‘-[)(-- =|2

23. Tickets to the county fair cost $25 for adults and $10 for children. The total receipts
for 358 tickets was $5485. How many adult and how many child tickets were sold?

let x = the number of adult fickefs sold
Y= Fhe Number of child tickets Sold

®><+5=35% X =905
@ 25x+ loy=5485

55‘— 3538 —X
\_«:35‘3"”—7

ZE-':ZSI l

4=

25%+10(358 ~X) =5,485

25%+3530 — 10X =5435 r—“—
15X + 353 = 5435, W—") 23)
. 0 -35%0 odutr chuld

P 1
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24. Solve the ;yjtirz gf inequalities by graphing. 7\ T2 4 /ﬂ
@ p2x—1 \ /
- 3 el /.\
@ 5 X+ @ U-— X , \- s 3 X
m=| b=3 M=) b=-| ZONN
ol?sheol line solid line I \&i\\)\'&/
Test : (6,0) Test: (99 3&%’ v
0<0+3 020-]
0<3 021
Troe True

(9x2+7x—3)— (4x*—6x+1)

‘!x +x=3— U+ b x—|
EXE+13x—H l

25. Find the difference.

26. Evaluate the polynomial for the given values.

8x’y+5x—4y; x=-2,y=3

9L2Y (3) + 5(-2-H(3)

g(H(D—10-12Z
=22

T4

—

-—

-~
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2+7+3

r2 g7 p3 ZEE

—~ YV

(x +2)(2x* = 3x+4)

28. Multiply.
235
= 2522+ Ux + 4% bx +38

= ‘2x3+x7‘—-2x 43

(n+11)? = G‘\‘l‘“)(ﬂ'\'“)
= nZ+ln+\in+ 121

= +22n+2 |

27. Simplify.

29. Multiply.

30. Simplify. (—)2 - (:23)2: -__—2:3'7. B %(‘ - -
A AR L

31. Divide. (45w* — 20w? + 10w) + (5w)

= 45w4_ 20W" + 10w
5W 5W 5W

= F\w3-— ”rw-l-Q.\

www.themathtranslator.com




%9, \/ATH TRANSLATOR EEN

32. Divide. (v2+ 13y + 40); %+ 8)

3+3) +l33 +H0 %5 =Y
Zz,.
5(ytd % [

33. Simplify. (—4c3d?*)(9¢%d") _-_-_ 3

\
b‘u

W8 |0
O

34. Factor completely. x3 + %l + 5%+ 5

= 2(,)+5(>§i)
(x+|) (x*+5)
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35. Factor completely.  x? + 11xy + 30y?

36. Factor completely.  30x? —5x — 10

= 5(6X=x-2)
=5 (@ - D2xt])

37. Factor completely. The difference of squares formula is: a? — b% = (a — b)(a + b).
144w? — 2522

=(i2w) 62"

a=12w b=5%

= [(2w-52)(12w+52)

38. Factor completely. The sum of cubes formula is: a® + b® = (a + b)(a? — ab + b?).
8¢ +125d?

= 2%3+5%°
= QO +5d)’
0=2e b=5d
= (e+5d)(EeF-0c)(sd) +5d))

= o % £
= “ (2(.'\' Sd) (Llc il IOC.d T 2'{:S_GLJWNV.themathtranslator.com
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39. Solve. 27x2—=3x—4=0

(x—4) (3x+|)=0

x""'i- X=-I
1 %‘ ]
*4 x==L
9 2

40. Simplify. x:;::o - M(X"'s—)

\)

P
+
Ul

41. Divide. x-3x X = _)_(?;'3)( X+H
X Lx—-12

-'X(,x/33 . XA
L%%)(M) X

(1]

\I
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42. Subtract, ¥ _ Sxt6 = X%—@X'Hp)
5x—30
= X=5x=b = (xH)(=b)
5xX-30 5(5;3

= 8(m-5) + 2

@-5)(«\'\"1) @f\ﬂ)(m-—S) — R

e K ! www.themathtranslator.com



-, MATH TRANSLATOR

45 Solve. - _@("l)
x2—4 x+2 2-x ("I)
A7 \f + 25\ (cD2)
MXX‘FZ/) 47  x-2

LD} (%-2)(x+2)
X%z X (x-2) + 2% (x+2)
xF= =2 X+ DX+ Hx

2x*+2%x=0
2x(x+1)=0

46. Charlotte loves to drink fruit smoothies. A 16 ounce serving of smoothie has 185
calories. If she drinks 22 ounces of smoothies, how many calories of smoothie is she

consuming?

|35 Co.lbl’fes X colories

\bx=(185)(22)
lbx= 4p70

= L_{PJ_Q
l (6
P<—-= 254,375
Co.lories

47. Find an equation of variation in which y varies directly as the square of x and y = 10

when x = 2.

5=sz
0=k (2

1o=4k
L’§_=k
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"30/@ [ OX i“’\[ér J

(i

49. Simplify. \[% = \flogi“’ — :[ 22' 3)2 O okt i =
Y e
4 27 = 2.3.%3\ /3

I
@ ;éé = .% _?__3:’ \/'3_4
50. Subfract. V45 — 20 i

TS

EENENE ]
=3J§_7ﬁ5/ = (IJ5

51. Multiply. (8 +2v3)(1—4V3)

=8-30J3+2J3 -3J9

= 9-30J3 —3(3)
= 2-30J3 — 4

= E\ b=30J3
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52. Simplify and rationalize the denominator. ﬁ 1

\r'—- 3@
2z J5 _ 2lic o
3J5 48 3JE _
Jou _|2]ic
3(5) \5
53. Solve. j:c?:-= 2x+7£ Ck
( x+2)73=(\J 7_x+7)?' —-—t:__‘ -
(+2)(x2) = 2x+1 T=d20+T -2
X +Hx +H= 24T b
X +2x—-3=0 X==3
(x —Yx+3)=0 =3=J2(-)+71 72
X=-|=0 X+%=0 -3=J\ -1
M+l -2 -3 —3=|=2

—

ESI ¢ -3~
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54. Add. Y80+ V405 = 3/2‘!.5 +\‘973"".5ﬁ
g0 Hos

l(:a/© 3',/\@ =245 +3¥ 5
L5

55. Simplify.

56. Solve. \’ x? =[5

57. What number would need to be added to this expression to complete the square to
make a perfect square trinomial?

z? + 3z

b=3
E)D=%

B
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-b+Vbhi-4ac

58. Solve. The quadratic formula is x =
4=l b=, c=—4
X =~ () e 4D
ARl
X= pFN 3ot
2
x=b*J52

A

x= LT J413

ya
)('—‘éiz\)ﬁ-

2
(x=32JG |

59. The width of a rectangular flower bed is 7 feet less than the length. The area is 18
feet squared. Find the length and the width. A L. W

)w=l_—-7 l% Lﬁ-::l)

=[5
3 i -18

Y
- _."l O— L —_]L—lg
\'\i] :l;]'___, 0= +2CD
L+2£0  L-9=0
(W=24k | A
* L=
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60. Graph the parabola.

* ConCave up &= b=-2 c==3
vertex! x=-b . NEY
20, /I
X==(-0)
201) \,
X=2Z
Y o 20)-3 0 =X"—1x=3
= <23 O= (x+1D)x-3
y=1-5 X+l£0 x-¥=0
Y=-4 - )(-l' +3
vettex | (I-4) - X=3
)""Ir\"l' 3 (.3--?,(0)-3 ("l)O) (3)0)
\j—-
(0)-3)
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